V4

RANDWICK GIRLS HIGH SCHOOL

Question 1: (12 marks)

(a)  Evaluate, correct to 2 significant figures

YEAR 11 ASSESSMENT TASK 1 () Factoriso 2616

s . .1 ' . : 2 2 _
Mathematics — Extension1 = - - @ Fatorise  27-yt42y-1
a: . m-n
(d) Slmpllfy 1- o
@ Simplify -z
Time: 1% hours : : " Examiner: D. Posener
: ® Solve ~ (x—-1)°=-8
(& Solve - <0001
INSTRUCTIONS:
"s  All questions may be attempted ‘ ' Question 2: (12 marks)
" Marks may be deducted for careless or badly arranged work . . o en
e Show all necessary working - (a) Simplify 2\/33' —+/343
o The mark value of each question ig shown C ] ' syi-t
e Approved calculators may be used ‘ : : (b)  Express Sis
¢ Begin each question on a new page - 4 " : :
(©) Solve [2¢+1] <7
. 1 x2-1
NAME: . - @ @ ol oo
. » . lim 3—x2+2xv
- (i) P sy
QUESTION . MARK (e)  Statethe domainandrangeof - f(x) =
1 12, .
2 2 : ® Make neat sketches of the following regions:
3 112 A @ 4<x*+y*<9
g n2 G) y=dxt
5 ‘ Ml
6 L n2
TOTAL . sl A

a1

~1

V4-x2

1

91.6—27.02

in its lowest terms, with rational denominator




Question 3: (12 marks)
L g¥-1
(a Simplify P 4
K®  Given f() =3x—4, find g(x) if f(g(x)) = x
(¢) A functionis defined by the rule:

1-x%for—2<x<0 ;(x)-.- Lt F

flx)= 2% for0<x <2 ]
;1; for2<x<4

@)  Findthevalueof f(—2)+ f(1)+f(3)

(ii) Sketch the function for —2 < x < 4, indicating the main features.

(@) . Sketch
. 1
o y=Ff
() y=logwkx-1
Question 4: (12 marks)
(a)  Solve :;: <3
3 1
(®) Solve CTESTS
(©) Find the centre and radius of the circle whose equation is
’ x2+y*+6y=0
()] Part of the graph of the function y = f(x) is shown below

Draw two neat copies of this graph and label them (a) and (b)
Complete the graphs of ¥ = f(x) on-each sketch so that:

@) In(a) y = f(x) isaneven function
() in(b) y=f(x) isanodd function

*”

Question 5: (ZO/marks)

(@ The diagram below shows the molecular structure of benzene,
which is in the shape of a regular hexagon. ‘Find the exterior angle
of such a figure.

(b)  ACis parallel to DE A
@)  ProveAABC|||ADBE
(i) * Find the value of .

Question 6: (12 marks)

(a Sketch y=v2~x

i = S
(b)  Sketch y=2+ pour
(©)  Solve simultaneously Xx+y—-2=0and xy=1
_1-x?
(d)  Sketch y= el
" . xa
(e) Sketch y = prors
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